	
	Birdy  Company
	
	Bogey Company


a. Current ratio:

	
	
	= 4.0 to 1
	
	
	= 1.5 to 1


b. Acid-test ratio:

	
	
	= 3.0 to 1
	
	
	= .8 to 1


c. Accounts receivable turnover:






        = 9.4 times


  

   = 12.0 times
d. Inventory turnover:




    

= 8.2 times




        = 3.6 times
e. Days’ sales in inventory:




  x 365 = 46.8 days




     x 365 = 96.9 days
f. Days' sales uncollected:




        x 365 = 40.7 days


                        x 365 = 31.2 days
Short-term credit risk analysis:  

	
	Birdy Company
	
	Bogey Company


a. Profit margin:



   
  = 16.0%





     = 6.5%
b. Total asset turnover:





      = 1.8 times




    = 1.3 times
c. Return on total assets:





       = 29.6%





       = 8.2%
d. Return on common stockholders' equity:




                   = 31.1%





     = 38.6%
e. Price-earnings ratio:




  = 18.5





       = 26.4
f. Dividend yield:




   = 2.3%





       = 2.3%
Business analysis:  
	Birdy Company
	
	Bogey Company


2011 Income Statement



2011 Income Statement

Sales






Sales

Cost of Goods Sold




Cost of Goods Sold
Gross Profit





Gross Profit
Taxes 






Taxes 
Total Profit





Total Profit
$172,500


$115,000





$201,600


$50,400





$92,000


$115,000





$151,200


$50,400





$468,000


 ($40,000 + $38,000)/2 





$540,030


($60,200 + $54,700)/2





$303,300


($80,500 + $88,000)/2





$393,190


($50,400 + $45,500)/2





$80,500


$303,300





$50,400


$393,190





$40,000


$468,000





$60,200


$540,030





$30,200


$468,000





$86,409


$540,030





$468,000


($377,500 + $355,870)/2





$540,030


($402,770 + $181,166)/2





$30,200


($377,500 + $355,870)/2





$86,409


($402,770 + $181,166)/2





$30,200


($86,500 + $70,100)/2





$86,409


($288,370 + $266,500)/2





$32


$1.73





$32


$1.21





$.75


$32





$.75


$32








